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" X 5 2%5 BERSEEEMZBEMAA12-2 30 30 60
BTE 2%5 BERSEAZRMRAT2 20 20 40

X BB 2%5 ERERERMARI-7-38 20 30 50
B2 2%i5 2R BB KB RBETRE297 30 30
F-IEXE BEHNES BERSRESTHR1TEHI0E2S 50 50

3 " 5 2 & it 0 30 0 170 20 30 0 130 20 80 0 0 25 30 535

AH5 EEREEHEM2T B10H105 20 100 20 50 20 100 20 100 20 20 20 490

1% 5 ) & H 0 20 0 100 20 50 20 100 20 100 20 0 20 20 490

EX e ] REARBREART R EAT4-14-8 50 100 25 80 50 100 25 50 50 25 25 50 630

A & RES BEARASTEER2214-2 40 20 20 30 20 20 150

X E %5 BEAREANETERRT6-21 40 20 20 20 20 30 150

15 x = a Hi 0 50 0 180 65 120 50 150 65 100 50 25 25 50 930

EX e ] EIE R =R AF AL S FHBF E2735-7 30 100 50 50 50 50 50 30 30 440

iE R HHS U R B ) T AR SR BT 1-1620 30 30 30 30 120

# W 2%S B IE R AR T ERT754 30 30 30 30 120

= U} = & Hi 0 30 0 160 110 50 0 110 50 110 0 0 30 30 680

AH5 2 iE] IR 43 o) 77 3R (X 5 15 5. BE6-7-16 50 150 50 50 50 150 50 100 50 50 50 50] 850
BEE—RHENLS 12k R & B T AFIRT5-12(BE + B #IK 5 mEn E & S 85) 50 50 50 150
BEE _RHESHS EEEEETEEZR4T H20—- 18RV Eiw) 25 25
FEAM H#i5 f2fE R AL AN /N E R B R RT3-20-3 50 100 50 50 100 50 50 50 500

] R 285 a3 R R E NI K FRFILA23-23 50 50 50 50 50 50 50 50 400
ABKRE—HEIE 1RE R A B K LA E 112203 50 50 50 50 50 50 50 50| 400

M ABREZHHIS TEER A KT L 2ET2228-66 (A K TEKE) 90 90 180
] ] ) & it 0 200 0 440 290 200 50 425 250 300 50 50 50 200| 2,505




BAHA_EEREHR & HF=KE =B h=HY)Y B=I—H) L=%> [Z=Z8H (ex 20 =ZHAVIY)
& % # wr & e 1 |1 | 2mn |25 l,%z l:ﬁks 75\%3 Bﬁsl, I | HE|BHT|®BL]|AEG
AH5 RIGRRIGHHERT1576%12 30 50 20 30 20 50 20 50 30 300

A R BE—2%5 RIBEHRETZ R RETAK1601 30 30
EHRE—DHKIS RIE IR R T RUEHT 157 50 50 50 50 50 250

B I 9%5 RIGEETIHAEET266 10 10 10 10 10 50

T Ik HHG RIG IR S5 BRYER/ SR K il 122-46 15 15 15 15 15 75

x B HHs RIGE TR EREERETE 51436 20 20 20 20 20 100
LtHE %5 R 5 12 R A AR £ T B BT & 4518061 25 25 25 75

& I 2 = H 30 0 170 115 30 20 170 115 170 30 0 0 30 880

AH5 ROPBRHHKIERT3-4-13 30 100 50 20 20 100 50 50 20 440
KAE—HEH5 KBRS T IEHET 1-2-5 50 50
RAREZNHG RABRKRASHTFRAFHI1035-1 50 50
RAE=7HI5 RIPBRHHKIERT1-1-28 10 10

M PN b2 = & 5 30 0 100 50 20 20 100 50 50 20 50 50 10 550
b I & L 390 0| 1320 670 500 160 | 1,185 570 910 170 125 200 370| 6,570




BAHA_EEREHR & HF=KE =B h=HY)Y B=I—H) L=%> [Z=Z8H (ex 20 =ZHAVIY)
B % 5 r & e 1 2|12 2n]| 2B L §2 1= ﬁks 7!)\E 3 ‘BE L|SBIT|Hr|HT|HBL|E&E
HREE TSN HS R AATFENIS12—20 50 50 50 50 50 50 50 50 50 50 50 50 600

- B HHIS BRI TBR3 —17 -1 50 50 50 50 50 50 300
B T HHS RREATBER4—22—1 50 50 50 50 50 250

B W OS85 TR ETETMERRMRE6S 20 20 20 20 20 100

i INEL 5305 $g§§i§$§§§f&§2—7;ﬁ%€&) 20 20 20 20 20 100
pai R & &t 50 0 190 190 50 50 190 190 190 50 50 100 50| 1,350




